[ Efficiency vs vertpos |
- 0.2

0,18+ SR e
Q.. qF : : :

O e R oo ST
Q -
©0.14F
Q o
50.12_ : :
L R S
0.08F -+ e !
0.06
0.04

e TR

=TT ”: RN RERE R
[

0.02
O J..G 11 IIIIII! 11 11111 + C "] 111
= 4|
o P 4. Y 10 G A +
08:— ......... i.‘" " .......

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbarPU

Efficiend —— DQM_mKFit_TTbarPu
ICIeNd _,__ DQM_mkFit_TTbarPU-clonerfix2

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]

........

0.05F -4 -EHT- 54 o
0.04F -+ o
0.03 -1t
0.02 L
0.01 Lilg--

30 -20 20 30

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005

o 10fbod
© F :
o 1Al:— """ TR
£
%5621 =10 510 15 20

Sim. PV z (cm)



	Contents
	Page 1


